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1365} 7 180x1=180 180+3=60 (180-60)+2=60 60+1=60

IEHE 180x2=360 360+4=90 (180-90)+2=45 90+2=45
IESAER 180x3=540 540+-5=108 (180-108)+2=36 108+3=36
IE6AF 180x4=720 720+-6=120 (180-120)+2=30 120+4=30
IE8AF 180x6=1080 1080+8=135 [(180-135)+2=22.5( 135+6=22.5
IaC):=:}i7 180x7=1260 1260+-9=140 (180-140)+2=20 140+7=20
IE10/H72 180x8=1440 1440+-10=144 | (180-144)+-2=18 144+-8=18
IE12MAZ | 180x10=1800 | 1800+12=150 | (180-150)+2=15 150+10=15
IE18MAMAZ | 180x16=2880 | 2880+18=160 | (180-160)+2=10 160+-16=10




